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105|KH JH& 37 40 77 3.6 |73.4 155 |ffe 2 AR R 52 46 98/24.0 |1 74.0
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203 K BE 37 46 83| 8.4 |74.6 253 Inpk Bt 39 42 81| 6.0 | 75.0
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301 [FF/AAE: {53 46 45 91| 15.6 | 75.4 351| %Rk Fusk 40 48 88/ 12.0 |76.0
302 | F8E KRIT 48 43 91| 15.6 | 75.4 352 | R EF HEA, 43 45 88/12.0 176.0
303 [f& ] Kz 48 49 97/21.6 | 75.4 363|ERE BE 46 42 88/12.0 176.0
304 |1l H K& 48 49 97/21.6 | 75.4 354|5H: 45 49 94/ 18.0 |76.0
305 i A 49 48 97(21.6 | 75.4 355| AR B 49 45 94| 18.0 | 76.0
306| — A yEZEZ 53 50 103]27.6 | 75.4 356|HEH &2 49 45 94/ 18.0 |76.0
307 K g2 42 61 103/ 27.6 | 75.4 357 AT B 52 42 94| 18.0 | 76.0
308 | H FHE 54 55| 109]33.6 | 75.4 358|4EH EHA 47 47 94/ 18.0 |76.0
309 | R #% 50 59 109/ 33.6 | 75.4 359 AR Fil— 49 45 94| 18.0 |76.0
310 | AR THE, 37 41 78| 2.4 |75.6 RE 360 |FuiR Bl 47 53] 100]/24.0 | 76.0 RE
311/ 52H ¥E+H] 39 45 84| 8.4 |75.6 361 R 755w 51 49|  100/24.0 | 76.0
31276 H BT 42 42 84| 8.4 |75.6 362|HLH IR 58 48 106/ 30.0 | 76.0
313 | BB F5 ik 36 48 84| 8.4 |75.6 363| KN =EAT 55 57| 112/36.0 | 76.0
314 )11 B 38 46 84| 8.4 |75.6 364 | K HH] 39 42 81| 4.8 |76.2
315 | EH fi— 43 47 90| 14.4 | 75.6 365/hE 43 38 81| 4.8 |76.2
316|TfE EBL 45 45 90| 14.4 | 75.6 366 |4k W 42 45 87/10.8 |76.2
37| & 9w 46 44 90| 14.4 | 75.6 3671 Fnsk 42 45 87/10.8 | 76.2
318K {EaE 41 49 90| 14.4 | 75.6 368 | Ki& HEA 46 41 87/10.8 | 76.2
3194k (8 45 45 90| 14.4 | 75.6 369| HyH HZ 46 41 87/10.8 |76.2
320 HVH M= 40 50 90| 14.4 | 75.6 RE 370/ KIv 45 42 87/10.8 | 76.2 RE
321 | K% Adt# 42 48 90| 14.4 | 75.6 371|141 Tk 43 44 87/10.8 | 76.2
3228 Hiz 49 53| 102]/26.4 | 75.6 372K W 44 49 93] 16.8 | 76.2
323t - 53 49|  102|26.4 | 75.6 373 e % 45 54 99|22.8 |76.2
324| K A 54 48 102]26.4 | 75.6 374 KH F1T 47 52 99]22.8 |76.2
325 ' i i 51 51| 102]26.4 | 75.6 375 | B 2 1] 44 55 99|22.8 |76.2
326 FEH B 40 37 770 1.2 | 75.8 376|8 K BT 47 52 99]22.8 |76.2
327 |KalRy [ 43 40 83| 7.2 |75.8 37715 K Je— 46 53 99/ 22.8 | 76.2
328 |FE L 1Tk 38 45 83| 7.2 |75.8 378|[E /. 4FEME 46 53 99]22.8 |76.2
329 |t& ] BEAT 43 46 89| 13.2 | 75.8 379|fgte =& 49 50 99]22.8 | 76.2
3307k H &1E 48 41 89| 13.2 | 75.8 RE 380| (L [&H] 50 49 99]22.8 |76.2 TRE
331 [T 3k 42 47 89/13.2 | 75.8 381 |FEH Bk 40 40 80| 3.6 | 76.4
3320y B E 44 45 89| 13.2 | 75.8 382 | Fnlr &5k 38 42 80| 3.6 |76.4
333 B & 47 42 89/13.2 | 75.8 383 HE Hl 41 45 86| 9.6 |76.4
334 | HHE R 42 47 89| 13.2 | 75.8 384 |EHFEZ 40 46 86| 9.6 | 76.4
335 B W% 48 47 95| 19.2 | 75.8 385 | A B 46 46 92| 15.6 |76.4
336 |#81 B 49 46 95| 19.2 | 75.8 386 | FAFANE 5 44 48 92| 15.6 | 76.4
337 EH i 46 49 95/19.2 | 75.8 387 | f%E EH - 44 48 92| 15.6 | 76.4
338|I|A IEMT 46 49 95/ 19.2 | 75.8 388U H FK 50 42 92| 15.6 | 76.4
339 | K Frsst 46 49 95/ 19.2 | 75.8 389 B 15— 51 41 92/ 15.6 | 76.4
340K H — 51 50/ 101]/25.2 | 75.8 TR 390|ILIA FEE 46 46 92| 15.6 |76.4 TR
341 | T 3= 49 52| 101/ 25.2 | 75.8 39122 46 46 92| 15.6 |76.4
342 W Hifk 49 52| 101]/25.2 | 75.8 392 | BPAT HEE 48 44 92| 15.6 |76.4
343 [ BEA ik 46 55| 101]/25.2 | 75.8 393 | 46 52 98/21.6 |76.4
344| T H BIE 44 38 82| 6.0 [76.0 394|100 B+ 47 51 98/21.6 |76.4
345 | il 38 44 82| 6.0 [76.0 395| A A+ 47 51 98/21.6 |76.4
346 | ik f& 44 38 82| 6.0 | 76.0 396 | # W JeFn 47 51 98/ 21.6 | 76.4
347 Iy ot 42 40 82| 6.0 |76.0 3975 H Bk 48 50 98/21.6 |76.4
348 B fil— 43 45 88/ 12.0 | 76.0 398 g vk 49 49 98/ 21.6 | 76.4
349 WA ok 43 45 88/12.0 | 76.0 399 | BrEE 41 44 85| 8.4 | 76.6
350 | [LUAT S 42 46 88| 12.0 |76.0 TE 400 | A W 48 43 91| 14. 4 6 TE
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401 AH & 43 48 91| 14.4 | 76.6 451185 B 44 50 94]16.8 | 77.2
402 [f HAT 44 47 91| 14.4 [ 76.6 452 fats Fel& 49 45 94/ 16.8 | 77.2
40350 PSR 45 46 91| 14.4 | 76.6 453141 3k 49 45 94/ 16.8 | 77.2
404k FHFE 48 49 97/ 20.4 | 76.6 A54 |55 H —Ek 50 50 100]22.8 | 77.2
405 | FF) fEE 48 49 97/20.4 | 76.6 455 FniR Bl 50 50/ 100]22.8 | 77.2
406 H Bl 49 48 97(20.4 | 76.6 456 |y SR 51 49 100| 22.8 | 77.2
407 | 2K H 50 47 97/ 20.4 | 76.6 457 |$5K kil 53 53 106] 28.8 | 77.2
408 |- H 53 44 97/20.4 | 76.6 458 | EH % 55 51| 106]28.8 |77.2
409 AR B 49 54|  103]26.4 | 76.6 459 | EifE ST 59 53 112]34.8 | 77.2
410 1A K 50 53 103]26.4 | 76.6 RE 460\ H T 7&E 46 41 87| 9.6 |77.4 Y
411 | Frik #hE 50 53] 103]/26.4 | 76.6 461525 1EIG 46 41 87| 9.6 |77.4
412011 B — 52 51/ 103]26.4 |76.6 462 |{FiE 5T 43 44 87| 9.6 |77.4
413|751k I 40 44 84| 7.2 |76.8 463/ K 49 44 93/ 15.6 | 77.4
414 )1H Fnz 40 44 84| 7.2 |76.8 464 a2 R 46 47 93]15.6 |77.4
415 F 5 S 38 46 84| 7.2 |76.8 465 | 1LAR 2 44 49 93/ 15.6 |77.4
416|177 & 42 48 90| 13.2 | 76.8 466|ZEVH HER 52 47 99/21.6 | 77.4
417 | HFF Bz 46 44 90| 13.2 |76.8 467 KM FnzE 46 53 99|21.6 |77.4
418|giiEy FIE 39 51 90| 13.2 | 76.8 468 % H fa 48 51 99/21.6 | 77.4
419 3K {538 44 46 90| 13.2 | 76.8 469 | K{TN 22 1H 49 50 99/21.6 | 77.4
420 —FkF (EE 49 41 90| 13.2 | 76.8 Y 470| 1IN TEX 50 49 99|21.6 |77.4 RE
421 A0 EA 46 44 90| 13.2 | 76.8 471 RN Bz 48 51 99/21.6 | 77.4
422|153 B 43 53 96| 19.2 | 76.8 472|558 B 45 54 99|21.6 |77.4
423 1Lk FHxR 52 44 96/ 19.2 | 76.8 473 HH FaE 52 47 99/21.6 | 77.4
424| AR A 44 52 96| 19.2 | 76.8 474 PR S 51 54 105]27.6 | 77.4
425 | [ RO 45 51 96| 19.2 |76.8 475|852 |1 8 9T 55 50| 105/27.6 |77.4
426k EHF 47 49 96/ 19.2 | 76.8 476 | Fad S 55 56 111]33.6 |77.4
427 |<FH AW 48 48 96/19.2 | 76.8 477\ 21 15 42 38 80| 2.4 |77.6
428 /A 5L 47 49 96| 19.2 | 76.8 AT8|HH B 42 44 86| 8.4 |77.6
429 )1l Hk+ 45 51 96| 19.2 | 76.8 479|858 MhE 46 46 92/ 14.4 | 77.6
430|[HZ2 1E1R 48 48 96| 19.2 | 76.8 TR 480 | HEE 1% 41 51 92| 14.4 [77.6 RE
431 )11 %% 48 54 102] 25.2 | 76.8 4812 H 72— 48 44 92| 14.4 | 77.6
432 1A F 55 47| 102]25.2 | 76.8 4827 H K 46 46 92]14.4 |77.6
433 211 —& 51 51| 102]25.2 |76.8 483 INpE &=+ 46 46 92| 14.4 | 77.6
434 HH H# 56 52| 108/ 31.2 | 76.8 484 | IEEF HEX 46 46 92| 14.4 [77.6
43582 EHE 49 59| 108|31.2 |76.8 485 1l FEZ 46 52 98/20.4 |77.6
436 | FE flt— 41 48 89(12.0 | 77.0 486 | 1K sE— 53 45 98/20.4 | 77.6
437 FAA JSH 42 47 89| 12.0 | 77.0 487 [ 2 A 1 43 55 98/20.4 | 77.6
438 |- B 44 45 8912.0 | 77.0 488 | M FIE 48 50 98/20.4 |77.6
439 HR HEZ 46 43 89/12.0 | 77.0 489 | FfR 51 47 98/20.4 | 77.6
440 [ PR 47 48 95| 18.0 | 77.0 RE 4907k & # 51 47 98/20.4 |77.6 E
441|JER (5 49 46 95| 18.0 | 77.0 491| —FF (E4E 48 50 98/20.4 |77.6
442 | R HHE 46 49 95/ 18.0 | 77.0 492 BB JFHE 47 57 104|26.4 | 77.6
443 SN & 47 48 95/ 18.0 | 77.0 493 |fle il - A 52 52 104|26.4 | 77.6
44436 =55 53 48| 101|24.0 [77.0 4944k FnBf 53 57| 110/32.4 [77.6
445\ K& Hif 52 55/ 107/30.0 | 77.0 495 | Tjkis 4 55 55| 110/32.4 | 77.6
446 | FA L 50 57| 107/30.0 | 77.0 496+ Bk 47 44 91]13.2 [77.8
447\ 5 K AR 56 57 113 36.0 | 77.0 497 #i)1 BHE 47 44 91]13.2 | 77.8
448 R BifBL, 39 43 82| 4.8 [77.2 498 | H RH 46 51 97/19.2 |77.8
449 H | fdt— 42 40 82| 4.8 [77.2 499 e 2 K (A 49 48 97/19.2 |77.8
450 |<FH 2 46 42 88/ 10.8 | 77.2 B 500 [ A& 49 48 97/ 19.2 8 Y
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20238 7TH b R —— R AR

BRfEEH H :20234E07 HO1H (1) ~ 2023408 H 18 H (&)

v RE 1.0 RN T D HME36.0 236. 0 [FLA—: 1 2 3 5 6 8
1 3 4 5 6 7
RS WIREA SEHRY T AaT7hy b HTNR— 0 2 4 5 6 7 9
fEH=a—A  H Jb W 2PN M2 N RTS8 AN A EFS00 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &
50151 = 47 50 971 19.2 |77.8 551 | & g 49 44 93/ 14.4 | 78.6
502 " B4 52 45 97/ 19.2 | 77.8 552 | Z i FsE 47 46 93| 14.4 | 78.6
503 By 4 (1] 53 50/ 103]25.2 | 77.8 553 | A4 53 46 99| 20.4 | 78.6
504| A il FE 48 55| 103|25.2 |77.8 554 |85 FEHR 47 58 105] 26.4 |78.6
505 | it B Fa 52 51| 103]25.2 |77.8 555 KM 15 51 54 105/ 26.4 | 78.6
506 - HH F4& 55 54| 109]31.2 | 77.8 556 |k ZEHL 59 52| 111]/32.4 | 78.6
507 Iy F % 50 59| 109]31.2 | 77.8 557 | H P& 39 47 86| 7.2 178.8
508| BB —M 43 41 84| 6.0 |78.0 58| H 45 41 86| 7.2 |78.8
509 | & Jivg 46 44 90| 12.0 | 78.0 559| L &0 43 49 92/ 13.2 |78.8
5103+ B 43 47 90/ 12.0 | 78.0 RE 560|/NH IEE 47 45 92/ 13.2 |78.8 Y
511|HmE X% 47 49 96/ 18.0 | 78.0 561|228 JiH 44 48 92/ 13.2 | 78.8
512\ Ik #EH 46 50 96| 18.0 | 78.0 562 |5 JE R 50 54| 104]25.2 |78.8
513|n A #E= 50 46 96| 18.0 | 78.0 563|7H/K 1E3E 50 54| 104|25.2 |78.8
514 A ik 48 48 96| 18.0 | 78.0 564 |t ] Fofl 51 59 110/ 31.2 |78.8
51538 115 51 45 96/ 18.0 | 78.0 565 |78 )1] i 52 58 110/ 31.2 |78.8
516|& H #iia 51 51| 102]/24.0 |78.0 566 | Kl BT 39 46 85| 6.0 |79.0
517 KH & 53 49|  102/24.0 |78.0 567 |1 H HE 47 44 91/12.0 179.0
518| 7k B JAH 54 54 108/30.0 | 78.0 568|401 1EIE 46 51 97/18.0 | 79.0
519Nk — =k 53 55 108/30.0 | 78.0 569 LA EE 47 50 97/18.0 | 79.0
520 |78 Fiskt 52 56/ 108/30.0 |78.0 B 570 [#EHF fEisk 49 48 97/18.0 [ 79.0 RE
521 )11 IKx 2 — 60 54| 114/36.0 | 78.0 571 |im & 47 50 97/18.0 179.0
522| A B 40 43 83| 4.8 |78.2 572|553 A 56 47| 103/24.0 [79.0
523| HT A 41 42 83| 4.8 [78.2 573 |f& I 6% 47 56/ 103/24.0 | 79.0
524 | f& M FEAT 46 43 89/ 10.8 |78.2 574 JIH% i B 51 52 103]24.0 [79.0
525 |42 H 1% H] 44 45 89| 10.8 | 78.2 575 4K F R 54 49 103 24.0 | 79.0
526 | H P& 43 46 89| 10.8 | 78.2 576 %N JEiR 50 53| 103/24.0 |79.0
527 | Kk EH— 46 43 89/ 10.8 | 78.2 ST7| KN 54 55/ 109/30.0 |79.0
528| —FT A 44 45 89| 10.8 | 78.2 578|t& ] Yt 52 57 109]30.0 [79.0
529 KB =/ 49 46 95| 16.8 | 78.2 57978 H  Kififi 55 60 115/36.0 |79.0
530 FFH% 45 50 95/ 16.8 | 78.2 RE 580 | MEEE Fik 49 41 90| 10.8 | 79.2 RE
531|F Il FEH1 46 49 95| 16.8 | 78.2 581| B Hh Fik 43 47 90| 10.8 | 79.2
5327k BH 46 49 95| 16.8 | 78.2 58284 FRAER 45 45 90| 10.8 | 79.2
533 | ZEAT 5LFE 48 47 95| 16.8 | 78.2 583 | =4 Ak 49 47 96/ 16.8 | 79.2
534 |HH 5LF] 46 49 95| 16.8 | 78.2 584JF/K Y= 51 45 96| 16.8 | 79.2
535 FAK JAEA 45 50 95| 16.8 | 78.2 585 [IEAS FHHR 51 45 96/ 16.8 | 79.2
536| K H FnZ: 49 52| 101]/22.8 [ 78.2 586|)11& &EiA 42 54 96| 16.8 | 79.2
53T|ILUAR ==— 52 49| 101|22.8 | 78.2 587 | B FiEA 51 51| 102]22.8 |79.2
538| B T 51 50/ 101|22.8 [78.2 588|FH H E 55 53]  108/28.8 [79.2
539 i HE 51 50/ 101|22.8 |78.2 589 Bk B 53 55 108/ 28.8 | 79.2
540 )1 . Fnz 53 54| 107]/28.8 | 78.2 RE 590 [JE R TE—El 54 54 108]28.8 [79.2 E
541 KH HEA 43 51 94| 15.6 | 78.4 591 |fB s P& 51 57| 108]28.8 |79.2
542 5 5 45 55 100] 21.6 | 78.4 592| AT SUE 52 43 95| 15.6 | 79.4
543 | M Fih 49 51| 100/21.6 |78.4 593| =i 46 49 95| 15.6 | 79.4
544|411 EAs 49 51| 100/ 21.6 |78.4 594|—K ¥EF 54 47 101]21.6 | 79.4
545 | WA~ =B 52 54| 106|27.6 | 78.4 595 |{rf & FHK 51 50 101]21.6 |79.4
546 | ¥l HAERSE 55 51| 106]/27.6 | 78.4 596 | (L[] FRAE 53 54 107/27.6 |79.4
547|FHE W< T 50 56 106]27.6 | 78.4 597 /N1 =1 45 43 88| 8.4 /179.6
548 |fE HE 55 51| 106]/27.6 | 78.4 598| EH #E 40 48 88| 8.4 179.6
549| A ERE 48 45 93| 14.4 | 78.6 599 | H i 45 43 88 8.4 [79.6
550 & H EN 43 50 93| 14.4 | 78.6 TEE 600 1A 5 = 48 46 94| 14.4 |79.6 HE
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20238 7TH b R —— R AR

BRfEEH H :20234E07 HO1H (1) ~ 2023408 H 18 H (&)

v RE 1.0 RN T D HME36.0 236. 0 [FLA—: 1 2 3 5 6 8
1 3 4 5 6 7
RS WIREA SEHRY T AaT7hy b HTNR— 0 2 4 5 6 7 9
fEH=a—A  H Jb W 2PN M2 N RTS8 AN A EFS00 A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 H it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 H it 75 | GROSS| HDCP | NET |crossif &
601 | [rH B 45 49 94| 14.4 [ 79.6 651 A& B2 49 52| 101} 20.4 |80.6
602 S 5E 42 52 94| 14.4 |79.6 652\ %2 H ZF1E 56 51| 107|26.4 |80.6
603 H [l R 50 50/  100]20.4 |79.6 65310 7 56 51| 107]/26.4 |80.6
604 5 R 51 49| 100]20.4 [79.6 654 IfE K= 57 56| 113]/32.4 |80.6
605 | ik = 52 54 106] 26.4 | 79.6 655 |if /K 1E3E 41 47 88| 7.2 180.8
606|EH Z& 56 50| 106]26.4 |79.6 656 KHEE $EE 49 51| 100|19.2 |80.8
607 |y Bk 53 53] 106/26.4 | 79.6 657 H 1EfX 52 48] 100/ 19.2 |80.8
608| ;A 3+ 54 58 112]32.4 [ 79.6 658 | A% IETH 47 53] 100] 19.2 | 80.8
609 gn A i 58 54| 112]32.4 |79.6 659| A L1 54 52| 106]25.2 |80.8
610 )I[IRF £— 51 61| 112/32.4 [79.6 TRE 660/[1A 1FE— 58 54| 112|31.2 [80.8 Y
611 7k s 61 51| 112]32.4 [79.6 661 )1|IK £Z— 52 60 112]31.2 |80.8
612 /MK FHAT 47 40 87| 7.2 179.8 662|571 Bk 54 58/ 112/31.2 |80.8
613 & I 50 49 99| 19.2 | 79.8 663 |f& i FZ 48 45 93/12.0 |81.0
6143+ BGE 50 49 99/19.2 |79.8 664 | 5H] & 49 44 93/ 12.0 |81.0
615| }yT TEHE 52 53 105] 25.2 | 79.8 665|111 $X 50 49 99/ 18.0 |81.0
616 | FFT &z 49 56 105]25.2 | 79.8 666 | B £ 5] 51 54 105/ 24.0 |81.0
61775/K Y= 54 51| 105/ 25.2 |79.8 667 LA BEF 59 46/ 105/24.0 | 81.0
618 FEA il 48 57 105/ 25.2 | 79.8 668 Bfii 1E{E 52 53] 105/24.0 [81.0
619 &l Y 57 54| 111/31.2 |79.8 669 [Faf] S 41 45 86| 4.8 |81.2
620 i HEE 53 58/ 111/31.2 [79.8 i 670 ik o= 41 51 92/10.8 [81.2 RE
621 |(FiE fd 44 42 86| 6.0 |80.0 671 | M UG 47 51 98/ 16.8 |81.2
622 |k E 42 44 86| 6.0 |80.0 672|H A JLhf 50 48 98] 16.8 | 81.2
623 R T Wl 42 50 92/12.0 [80.0 673 f EHA 56 42 98] 16.8 |81.2
624 |48y BN 50 42 92(12.0 |80.0 674 |t&E MM S5 56 54 110]28.8 [81.2
625 | YTy W A 51 47 98| 18.0 |80.0 675 LR HiE 59 51| 110]/28.8 [81.2
626 = 1= 50 48 98] 18.0 |80.0 676 K B4 46 51 97| 15.6 |81.4
627K H —H[ 53 51| 104|24.0 |80.0 677 [IEEF JaK 51 46 97/ 15.6 |81.4
628 | ARKf FH K 56 54| 110]/30.0 |80.0 678 |HEH Fndn 57 46| 103/21.6 [81.4
629 | H HFET 46 45 91| 10.8 | 80.2 679 |tE M 58 51 109/ 27.6 |81.4
630))110 BT 42 49 91| 10.8 | 80.2 TRE 680 ¥ E s 52 57| 109]27.6 |81.4 TE
631/ ERE 49 48 97| 16.8 |80.2 681 |12 N 1 50 46 96| 14.4 |81.6
632 fhR EHAT 51 46 97| 16.8 | 80.2 682|FEN 1H 50 52 102]20.4 |81.6
633 | T Fogp 48 49 97| 16. 8 | 80. 2 683| A i — 42 60 102] 20.4 |81.6
63430 B+ 48 55/ 103]22.8 |80.2 684 | HEE FiE 49 53 102]20.4 |81.6
635 | A Bk 55 48| 103]22.8 |80.2 685 |78 1 R 46 49 95/ 13.2 | 81.8
636 | FFA X+ 53 56 109] 28.8 |80.2 686 Ki& o 44 51 95 13.2 |81.8
637 HEA 2 60 55| 115/34.8 [80.2 687|/AK B 52 49 101]19.2 [81.8
638 T-H 227 51 45 96| 15.6 | 80.4 688 | FEAT kg 45 43 88| 6.0 [82.0
639| B Hl HE 48 48 96| 15.6 | 80.4 689 | H/K {53E 40 54 94/ 12.0 | 82.0
640 | A H HRHR 47 49 96| 15.6 | 80.4 RE 690|[XE, 54 46| 100]18.0 [82.0 TR
641 |5k HA 48 48 96| 15.6 | 80.4 691 |[Moc 5L 51 55/ 106/ 24.0 |82.0
642|1%% R Fnz 51 51 102| 21.6 | 80. 4 692|211 % 54 52 106| 24.0 | 82.0
643 | BN SER 50 58| 108/ 27.6 |80.4 6931 /K Y= 52 54|  106/24.0 [82.0
644 AR [EF 50 58| 108/ 27.6 |80.4 694 | MR Fih 56 50/ 106]24.0 |82.0
645 | =h2H Fgst 56 52| 108|27.6 | 80.4 695 |EitE 151 57 55 112]30.0 [82.0
646 | P8 H # 42 47 89| 8.4 |80.6 696 | B A A 56 62 118]36.0 [82.0
647 — = 47 48 95| 14.4 | 80.6 697 |k 5 48 45 93/ 10.8 |82.2
648 A% IEFE 48 47 95| 14.4 |80.6 698/ )1 E 49 44 93] 10.8 [82.2
649 FHiR 1E2 48 53 101]20.4 |80.6 699 | = 52 47 99| 16.8 |82.2
650 | L. 7§+ 49 52|  101/20.4 |80.6 TRE 700 | fillJEL 1F Ji 49 56| 105|22.8 [82.2 Y
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HHH :2023.8.29 7:31

BRfEEH H 12023407 HO1 H () ~ 20234208 H 18 H (4)
T2 R RN T CHME3E. 0 &S, 0 [FLA—: 1 2 3 5 6 8
1 3 4 5 6 7
WA AaT7hy b HTNR— 0 2 4 5 6 7 9
= — = 2N D BYET22 N AMETB AN AEFS00A
BN EHE o N T 4 AFEHAH
JEAZ ZINE K4 it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 it 75 | GROSS| HDCP | NET |crossif &
701 85K B 59 52 111]28.8 |82.2 751 [T fE W2 46 51 97/ 12.0 | 85.0
702 | LA =] 60 57 117]34.8 |82.2 52| BEAES B 48 55 103] 18.0 | 85.0
703|722 H 77— 54 63| 117/34.8 [82.2 753| )11 {B— 53 56 109]24.0 |85.0
704/ {EAR 5L1T 50 48 98| 15.6 |82.4 754|5FF FnbA 60 61 121/ 36.0 |85.0
705 /N1 B 52 52| 104/ 21.6 |82.4 755 /NE Bk 59 62| 121]/36.0 |85.0
706|300 EiG 54 56| 110/27.6 |82.4 756 | g K= 57 64| 121/36.0 |85.0
7075 L 50 66| 116/33.6 |82.4 757 W= BT 59 62 121/36.0 |85.0
708\ ik 4S5 60 56| 116]/33.6 |82.4 758| Bl FE— 57 64 121/36.0 |85.0
709 “FEF jE— 59 57| 116]/33.6 |82.4 759|722k A 52 50, 102| 16.8 | 85.2
T10|85K BRI 49 54| 103]20.4 |82.6 RE 760 |FA7K EKEE 59 55| 114[/28.8 |85.2 Y
T11JER 15 47 56| 103]/20.4 |82.6 761 | R SRR 49 52 101] 15.6 |85.4
712\ Mkt V£ 62 53] 115/32.4 [82.6 762 F8H F X 59 54| 113/27.6 |85.4
TI3 A ER 55 60| 115/32.4 [82.6 763|185k B 48 58/ 106/20.4 |85.6
714 |8~ 1] 2 47 55| 102/ 19.2 |82.8 764 | L EAs 60 60| 120]/33.6 |86.4
715 7K il 50 52|  102]19.2 |82.8 765|858 FEFE] 63 49| 112/25.2 | 86.8
716 JRE. 58 51 51/ 102]19.2 [82.8 766 | FE IE— 52 66/ 118/31.2 |86.8
17K E 51 44 95/12.0 |83.0 767 |85 K L& 53 58/ 111/24.0 |87.0
T18 )1 &% 52 49| 101]/18.0 |83.0 7684 F FoBA 54 63 117/30.0 |87.0
19|44 t— 48 59 107/ 24.0 [83.0 769|/NE IR 53 70| 123]36.0 [87.0
720| =R BT 57 50 107/ 24.0 [83.0 RE 770 FnH BEA 61 62| 123/36.0 |87.0 RE
721 |y 4E 53 60 113/30.0 |83.0 771 | EEE R E 60 56| 116]28.8 |87.2
722 M RIEE 54 65| 119/36.0 |83.0 1721858 iEE 55 60 115 27.6 |87.4
723\ HAH 72 58 61| 119]/36.0 |83.0 773 | % Fnfl 57 64 121/ 33.6 |87.4
72470 BER 42 46 88| 4.8 [83.2 T74))1I B— 59 61| 120]/32.4 [87.6
725| HiE ME 48 46 94/10.8 |83.2 77515 )1 EET 58 61| 119/31.2 |87.8
726 AR T- 2 51 49 100| 16.8 |83.2 77611 £ 60 64 124/36.0 |88.0
27| Fofl 55 51 106/ 22.8 [83.2 TR 61 61 64 125/ 36.0 [89.0
728|M & ER 52 54 106/ 22.8 [83.2 TT8|JHH L X x 60 65| 125/36.0 |89.0
729 fET YDHB 57 55| 112]28.8 |83.2 779 PR M 50 56/ 106]16.8 |89.2
730 FAR X 57 61| 118]/34.8 [83.2 TRE 780 | AR A 64 62| 126/36.0 |90.0 RE
731 7)1 Ex+ 58 60| 118]/34.8 |83.2 781 |k AN 67 60/ 127/36.0 |91.0
732\ H Fod 57 61| 118]/34.8 [83.2 782| T E R 62 65| 127/36.0 |91.0
733| %R 5F 51 53 104] 20.4 |83.6 783 [tE M F 67 60 127/36.0 |91.0
T34\ M FUE 51 53]  104]20.4 [83.6 784|768 H Kififi 73 54 127/36.0 [91.0
735t ik BT 46 58|  104]20.4 |83.6 785| —JE AT 62 51| 113/21.6 |91.4
736 | BPAT HESE 54 50/ 104]20.4 |83.6 786 |fgtE )R 60 68| 128/36.0 |92.0
73T IUA HE— 61 49|  110]26.4 |83.6 787 KAl H3E 65 63 128/36.0 |92.0
738|fEIt FA 54 62| 116]/32.4 [83.6 788| Kl W@E 60 68 128]36.0 92.0
739 | HEVE BEVE 50 47 97| 13.2 | 83.8 789| i FiEE 61 64| 125/32.4 [92.6
T40 AR = 62 53| 115[31.2 [83.8 HE 790 I FFHERER 63 SOl 2o S8 U9 i
741%Em —H 42 54 96| 12.0 | 84.0 791 |8 2 1] 62 70/ 132]/36.0 |96.0
742|5 Lkn 61 52| 113]28.8 [84.2 792/ )11IRF B2 — 67 65| 132]/36.0 |96.0
T43| Y 7R 50 50/ 100] 15.6 | 84.4 7931 )1IRF 2 — 64 70| 134]/36.0 |98.0
T44 | Fiw 49 57| 106]/21.6 |84.4 794 FREE Tt 71 63 134/ 36.0 |98.0
745 ik BT 59 59| 118/33.6 |84.4 795 KA HE 72 66| 138]36.0 [102.0
746|IUN R 60 58| 118]33.6 |84.4 796| H Y 5L%A 67 771 144]36.0 [108.0
T4T |\ BB FE 49 50 99| 14.4 | 84.6 797 1R AL 70 74 144] 36.0 |108.0
48D E— 47 52 99| 14.4 | 84.6 798 K% Fc 76 75 151/ 36.0 |115.0 BB
T49 B AR HEHE 55 56 111]26.4 |84.6 799 | KA FiHE 83 72 155/ 36.0 |119.0
750 57 60| 117/32.4 |84.6 RE (N &=
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